62 =236 and (-6)° = 36
What are the square roots of 367 * Q

What are the square roots of 817 T q

Why are there no | real | square roots of -367?

VW, o~ S Qualecy 1S V\i%

How many square roots does any X
positive number have? {wo—> -

53 = + \'Z,S (_5)3 = ——/'Z\r
How many cube roots does 125 have? ONGE
Find the cube root of -125 ez =~
Find the cube rootof -512  JT5/2 = — &

How many cube roots does any i
number have?

The cube root of any number
has what sign?  The Same SI9M A4S radicand

34= ¥\ (-3)*= I
What are the fourth roots of 81? T 35

What are the fourth roots of 2401? =+ 7}

Are there any real fourth roots of -2567
NO/ wo vea) 4k reased, e —H\Q 4“\'\’\ Pcwe,r\

How many fourth roots does any 2
positive number have? 2~ =

The number of REAL nth roots of a radicand.
Radicand is | 'ndexis even | Indexis odd m

Positive Z - * 1

Zero i8 |

—

Negative O l




There are 2 even roots of every positive number. What numbers could you square and get 81? 19

—J asks for the Negative Root What are the square roots of 49?7 7

+,/ asksforthe Pos & Neg Roots Solve. x? =36 16

J asks for the Positive Root

Simplify. /441 _ 21
(N

No symbol in front of the radical means the
Positive Root.

Solve. x2 =25 This is asking you Simplity: y25 =5
to find all the numbers
you could square and

get 25. in this situation /  indicates the Principal Root
Find ALL the square
roots of 25.

When there are two roots the Principal Root is
X = == the positive root.



1.

3.

Simplify each.

-

J81

9

What "kind" of number will come from each?

1.

3.

4.

X

X

X

X

12

15

8

7

(]90 S
Q?Dﬁ ov N}
Tes

FoS sr g

A real number raised to an
even power is ALWAYS
POSITIVE.

A real number raised to an
odd power can either be
negative or positive.

The answer will have the same sign
as the base.

68 = —Y4 yiss = + S

The answer to an odd root has the Same sign as the radicand.

Why is there no principal root of an odd radical?

By definition the Principal Root is the positive root
when there are two roots but an odd radical gives
only one answer.

What "kind" of answer will come from each radical?

1. v :l VOﬁ The answer from an even

radical must be POSITIVE.

2 ‘/ ibf "Principal Root"

V\ﬁ Unless there is a - or % in front of the radical

3 PoS o The answer from an odd
' \/ e radical can be anything.

Answer will have the same sign
4 %/ ’FGS as the radicand.




